Gori’
propeller




DK
Lzs instrukiionen fer der arbejdes med propelien.

Vigtigt!
Uskift zink hvis de er korroderet mere end 50 %.

Advarsel!
Pas pa skarpe kanter.

GB
Read the Insiructions before any work on the propeller.

Important!
Replace zinc if eroded more than 50%.

Warning!
Beware of sharp edges.

D
Bitte die Anweisung lesen, bevor Sie mit d=m Propeller arbeiten.

Wichtig!
Zinkteile auswechsein, wenn sie mehr 2is 50% korrodiert sind.

Warnung!
Achten Sie auf die scharfe Kanten.

F
Lire les instructions avant toute intervention sur I'hélice

Important!
Remplacer I'anode zinc si elle est corrodss 2 plus de 50%

Attention!
Attention aux bords coupants

IT
Leggere attentamente le Istruzioni prima di gualsiasi operazione sull'elica.

Importante!
Sostituire I'anodo di zinco se usurato pil del 50%

Avvertenza!
Prestare attenzione alle parti taglienti

ESP
Lea las intrucciones antes de efectuar cuzlguier trabajo en la hélice.

i Importante !
Reemplazar el &nodo si observa mas de un 50 % de corrosion.

i Advertencia !
Tenga cuidado con las esquinas afiladas.




4 mm

88-98 Nm

Loctite 243










”

@

¢



4 mm

5mm

é Loctite 243

DK GB D F IT ESP Pcs.
1 [Nav Hub Nabe Moyeu Mozzo Cuerpo 1
2 |Blad Blade Flagel Pales Pale Pala 2
3 |Aksel Pin Fihrungsstifte Boulons en acier | Perni-pale Pasador 2
4 |Laseskive | Lock Washer|Sicherungsscheibe| Rondelle frein Rondella-sicurezza| Tuerca de seguridad| 1
5 |Matrik Nut Mutter Ecrou Dado Arandela 1
6 |Split Split pin Splint Goupille fendue | Coppiglia Chaveta 1
7 |Skrue M8|Screw M8  |Schrauben M8 Vis M8 Grano di fermo M8| Tornillo M8 2
8 |Skrue M8|Screw M8  |Schrauben M8 Vis M8 Grano di fermo M8| Tornillo M8 2
9 |Skrue M8|Screw M8  |Schrauben M8 Vis M8 Vite-bloccaggio Mg Tornillo M8 1
10 |Zink Zinc Zink Anode zinc Anodo zinco Anodo 2
11 |Skrue M8 |Screw M8  |Schrauben M8 Vis M8 Vite M8 Tornillo M8 4




TECHNOSERVICE
marine engineers
PO. Box 169 - 1230 AD LOOSBRECHT
info@kiapschroef.nl
t: 035 5827195 - f: 0842 244462

8

DY
DET NORSKE VERITAS
MANAGEMENT SYSTEM CERTIFICATE

Certificars No. 16177-2004-AQ-ARG-NANAK

Liiis is ta cernify that
Steel Team A/S & Gori Propeller A/S
Tysbjergvei 11, DK-6500 Vojens, Denmark
Aas bren forad i conform fo fhe Meragement Sysien Standard:
DS/EN ISO 9001:2000
This Cariificare it valid for the follawing product ar vervies rorfes:

High-tech Manufacture of Hzgh Preusmn CNC Machined
Comp for the A space, Wind Energy,
Hydraulic and the Commeme] Markelplace.
Manufacture, Sales and Services of Gori Propeller
for Sailboats and of Special Machinery.

iz Cernficcts s waid wntik: Fiece aud dove:
2019-09-30 Hellermp, 2007-10 10
Sou ihe Cenificeiin Usm. a0
DFTNORSKE VERIAS, DANKARK AS
g DAN CEKTHICAION
Bl \K /«v,\ﬁ”‘.
- L’C‘
; 1
CersSiruaing evaie bas foy iy N
Ib A Jensen Jens Petor Haiscth
Lead uditor Hamagement Qeprozcriotve
Lack of filRlerzt o i o Oacilicsion 4 il vy exder this Corfieacinvalil.

st s Y o, Dotk V. o2 T g o 8 2. DK 0% H s Tl Te. 5045 1100 4 40 wewie Jd

=@
GOI"I Steel Team A/S Phone : +45 73 52 53 54
Lysbjergvej 11, Hammelev  Fax: +45 73 52 53 55

p I'O pe I I er DK-6500 Vojen’s www.gori-probeller.dk



